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Q1) Whatis a b!og?

Internet>

Search Enginey

Personal Website in the form of a
journal _

Online Journal v
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Q1) What is a blog?

1. Internet

2. Search Engine

3« Personal Website in the form of a
journal

4. Online Journal
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X/ i — _Q2) A general code of conduct
“circulated among the employees of an
institution is an example of:

1. Downward Communication

C, Lateral Communication
- Horizontal Communication
4. Upward Communication
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Q2) A general code of conduct
circulated among the employees of an
e o Jun, institution is an example of:

_*—Downward Communication
Lateral Communication
Horizontal Communication

4. Upward Communication
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Cv—Ects LATERAL COMMUNICATION
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employees on the same organizationa

“Communication that takes place among i I
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When there 1s an animated discussion between a teacher and his or her students in the
classroom. it can be classified as :

(1) Horizontal communication (2) Mechanical communication

(3) Linear communication (4) Categorical communication

T‘M’u i o
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When there 1s ascussxon between a teacher and his or her students in the
classroom. 1t can be classified as :

(VHomgnml communication (X Mechanical communication

(3) Linear communication (37( Categorical communication

—
—
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Q4) Keeping quiet because of fear of
punlshment in communication is an
barrier.

Institutional
Interactional
Incentive
Individual
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Q4) Keeping quiet because of fear of
punishment in communication is an
barrier.

Institutional
Interactional
Incentive

1.
2.
3.
4. Individual
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Negreld nadror,
Q5) In communication, entropy refers to:
. - Rerza
Predictable message
UnB_r_edictable message
Orafory
Defensive speech
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Q5) In communication, entropy refers to:

heX:

1. Predictable message
_»— Unpredictable message

3. Oratory 4
4. Defensive speech

Ans: 2

+ entropy. refers to messages which convey highly unpredictable information to the receiver

» redundancy: refers to messages which convey highly predictable information to the receiver

Y
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Lgrgm;kﬂis an art of public speaking, especially

forr-n-ally and eloquently. It Ts the process of or act of
performing a speech to a live audience which is commonly
understood as formal, face-to-face speaking of a single
person to a group of’l{stene'r-sé
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Communication 2021
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B/Gn'en below are two statements : One 18 labelled as Assertion (A) and the other 1s labelled as

Reason (R) : =

Assertion (A):  Those who receive th?_;nessage and get themselves influenced by them 1n
the process, are designated as audience.

Reasons (R) : An individual or many, who listen, watch or read the messages are called

audience.
=

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct and (R) 1s NOT the correct explanation of (A)

(3) (A) 1s correct but (R) 1s not correct

(4) (A) 1s not correct but (R) 1s correct
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Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A): Those who receive the message and get themselves influenced by them in

the process, are designated as audience.
Reasons (R) :

An individual or many, who listen, watch or read the messages are called
—

—_—

l/) e audience.

In the light of the above statements. choose the most appropriate answer from the options

given below :

wl')/ Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct and (R) 1s NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct
Ans:1

4) (A) 1s not correct but (R) 1s correct
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20 Q7) Given below are two statements, one is labelled as Assertion A
= “and the other is labelled as Reason R

Assertion A: Teachers should accept students as they are and with
whatever cognitive level they have,,

Reason R: Moralizing, being judgemental, exposing ignorance are
barriers to successful communication.

In light of the above statements, choose thnswer from the
options given below:

1. Both Aand R are true and Ris the correct explanation of A
> Both AandR are true but Ris NOT the correct explanation of A
3. Alstruebut Ris false

Ais false but Ris true

. - - . g - I —— 3 svescriee § S
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Assertion A: Teachers should accept students as they are and with
whatever@ognliive Iew—?t}ey have. Twi

Reason R: Moralizing, being judgemental, exposmg ignorance are
~ barriers to successful communication.

In light of the above statements, choose the correct answer from the
options given below:

<~ Both AandR are true and R is the correct explanation of A

> Both AandR are true but Ris NOT the correct explanation of A
5. AlistruebutRisf =
.. Alisfalse but Ris true
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BARRIERS TO COMMUNICATION

Enter sub head-line here

&

Interpersonal

Linguistic

Barriers to
Communication

LS

Cultural
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__Q8) Identify the barriers to communication from the list given

“below : =

ol

Time and distance

By-passed instructions
Encoding of thoughts and ideas
Decoding of thoughts and ideas
Logical sequence

Choose the correct answer from the options given below :
1) (A)and (B) only

(B) and (C) only

(C) and (D) only

(D) and (E) only
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Q8) Identify the barriers to communication from the

o) listgiven below : =
(A)  Time and distance

(8) By-passed instructions
) Encoding of thoughts and ideas
E

“0) Decoding of thoughts and ideas

(
(E) LogiEEnI sequence
Choose the correct answer from the options given below :
1) (A)and (B) only
(=) (B)and (C) only
_+7(C) and (D) only
) (D)and (E) only
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Eg) Given below are two statements : One is labelled as Assertion A
“and the other is labelled as Reason R.

Assertion (A) : Inthe context of communication, the perceptual process
creates, semantic-noise also called word-noise. T/ f

Reason (R) : The various meanings either connotative or denotative are
sources oflsemantic noiseg

In the light of the above statements, Choose the most appropriate answer
from the options given below :

Both (A) and (R) are correct and (R) is the correct explanation of (A).

Both (A) and (R) are correct but (R) is NOT the correct explanation of
(A).

(A) is correct but (R) is not correct.
(A) is not correct but (R) is correct.
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Qg) Given below are two statements : One is labelled as Assertion
A and the other is labelled as Reason R.

\ASAS L
Assertion (A) : Inthe context of communication, the perceptual
process creates, semantic-noise also called word -noise, =

1 (R) : The various meanings either connotative or demotative are

@ semantlc noise. 0[
= f.,‘|"l G
baww C«j;'ure. | J

In the light of the above statements Choose the most appropriate
answer from the options given below :

(1) Both (A)and (R) are correct and (R) is the correct explanation of
(A).

(2) (A) and (R) are correct but (R)is NOT the correct explanation
of (A). x
(A) is correct but (R) is not correct.

(8¢ (A) is not correct but (R) is correct. Ans: 2
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The Perceptual Process
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Lo

The perceptual process begins when our
sensory receptors (eyes, ears, tongue,
nose, and skin) come in contact with
sensory stimuli (sights, sounds, tastes,
odours, and textiles) around us.

EXPOSURE ATTENTION INTERPRETATION ADAPTATION

Through our sensory system, we are exposed to an infinite amount of stimuli, some of which we pay

attention to, and some we tune out completely. Those that receive our attention we evaluate and

interpret their meaning based on our methods of cognitive and behavioural processing. After time,
some of these stimuli become adapted and we seize to remark on their significance.
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9 Types of Noise in Communication
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Q10) Which of the following is an exclusive
= .

example of Non-verbal cue that includes the

pitch, rate, volume and use of pauses?

——

(1) Linear Model of Communication
(2) Interactional Model

33 Non-Verbal Cues

(z) Para-Language
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Q10) Which of the following is an exclusive

example of Non-verbal cue that includes the
pitch, rate, volume and use of pauses?

—r —_—

A Linear Model of Communication
— Mod e

\-‘({ Interactional Mode|

(3) Non-VerbaICua)q

}y Para-Language
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PARA LANGUAGE

The term para language is combination of
two words-"para™ means like and
“language” means mode of communication.
Thus, para language literally means "like
language”.

In the words of Prof. Barker and Gaut, "A
language alongside of language and includes
vocal characteristics such as pitch, range,

@ esenance, fempo and quality and various

=

)Wocal sounds such as grunts, groans and
Slearing the throat.”
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15) Match List | with List Il : _ 202)

List I~ List Il is

Types of Communication Main features

(A) Downward Communication (l) Grows primarily to meet organizational/member’s need for communication
(B) Upward Communication (ll) It forms a useful link in decision making for task coordination

(C) Horizontal Communication (lll) Provides management with feedback about current issues and problems
(D) Grapevine Communication (V) It is the most common communication system in an organization

Choose the correct answer from the options given below :

(1) (A)-(1), (B)-(lN), (C)-(IV), (D)-(11)  (2) (A)-(I1), (B)-(1), (C)-(IN), (D)-(IV)

(3) (A)-(l1), (B)-(IV), (C)-(1), (D)-(I1)  (4) (A)-(IV), (B)-(lH1), (C)-(W), (D)-(})
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15) Match List | with List Il :

List | List Il

Types of Communication Main features "&M‘\‘
AA) Down__v!ard Communication () Grows rily to meet orgamzatlonall . d for communication
(B) Upward Communication () It forms a useful link in decision making foﬁ task coordination I

(C) Horizontal Communication (lll) Provides management mtbout current issues and problems
(D) Grapevine Communication (IV) It is the most common commumcatlon system in an orggmzatwn

Choose the correct answer from the options given below :

(1) (A)-(1), (B)-(l), (C)-(IV), (D)-(11)  (2) (A)-(I), (B)-(1), (C)-(lM), (D)-(IV)

(3) (A)-(l1), (B)-(IV), (C)-(1), (D)-(I) WAHW)' (81;_(_Ill), (C)-(In), (D)-(1)
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A. Lengthy ﬂesen=tation

B. Comple)ﬂ\_tence structure
C. Editing after writing

D. Brevity in sentences

E. Use of strong words

F. Effective use of words

Choose the correct answer from the options given below:

(A, B and C only
>Z B, C and D only
3.C, D and F only
4.D, E and F only

— . . » ENCETE p
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- Efficacy of written communication depends upon
)yLengthy presentation
X Complex sentence structure

C. Editing after writing

D. Brevity in sentences

E. Use of strong words M &?MG\/\

F. Effective use of words

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.C, D and F only
4.D, Eand F only

Ans: 3
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Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: It is the responsibility of the teacher to make students active listeners with the
help of different interactive techniques T o

aQ d—rdu'l

Reason R: In teacher-centric communication, students tend to become passive listeners |
A -

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A

—

A is true but R is false
XA is false but R is true

o - - . . - I ——— 3 svescriee N
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Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: It is the responsibility of the t@ make@ active listeners with the

help of different interactive techniques

bec,o
Reason R: Inkeacher-centyic communication,tend to become passive listeners

In light of the above statements, choose the correct answer from the options given below

Mnd R are true and Ris the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false
4. Ais false but R is true Ans: 1
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Match List | with List Il

List | List Il

Type of communication Characteristics

A. Intra-personal |. Between persons

B. Inter-personal II. within a small organisation

. Group lll. Large number of unknown audience
D. Mass / IV. Within oneself

Choose the correct answer from the options given below:

TLA-1LB-1ILC-1I,D-IV
2A-ILB-IIILC-IV,D-I
3.A-ILB-IV,C-1,LD-II

4.A-IV,B-I,C-II

o - - . . - I ——— 3 svescriee N
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Q4. Match List | with List Il

List | List I

Type of communication Characteristics

A. Intra-personal |. Between persons

B. Inter-personal ll. within a small organisation

C. Group lll. Large number of unknown audience

L

D. Mass flv. Within oneself
Choose the correct answer from the options given below:

1.LA-LB-ILC-l,D-IV
2A-IL,B-1ILC-IV,D-I

3.A-1lILB-1IV,C-1 Dl
-IMB-I,C-II{D -1
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Given below are two statements

Statement I: Personality conflicts in a classroom situation are a barrier to effective interaction

Statement |I: Impersonal communication is invariably considered the best solution in a

classroom environment ,

-_—

In light of the above statements, choose the correct answer from the options given below

_
1. Both Statement | and Statement |l are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement Il is false

4, Statement | is incorrect but Statement Il is true
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A Statement: Personality in a classroom situation are a o effective interaction
—— —

Statement II: Impersonal communication is invariably considered thlution Ina
) classroom environment T o

QD.‘* Nt e o
In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false
A Statement | is correct but Statement Il is false

4. Statement | is incorrect but Statement Il is true

— . . - ) susscrise p
nroll for Free Demo Class | Visit combinecs.com for all new courses launched | Call now +91-766698062 _ o




oin telegram For FREE Iest Practice/Noftes:

“ "
= |Combinecs
Q16. — e

Which of the following is considered as an effective form of verbal communication?

—

(1) Story-telling (2) Sloganeering
(3) Use of high pitch of voice (4) Monologues

= a
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Which of the following is considered as an effective form of verbal communication?

(¥~ Story-telling (% Sloganeering
(}( Use of high pitch of voice (4}( Monologues
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Given below are two Statements — One 1s labelled as éssertion (A) and other is labelled as

Reas=on (R): Wu_' w{ﬂ‘

Assertion (A): Use of in formal teaching makes communication lively and

interesting.‘_

Reasons (1;): Academic decency demands the avoidance of slang in the classroom

2 _
M environment.
>

In the light of the above statements, choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true, but (R) is false

(4) (A) 1s false, but (R) 1s true
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Given below are two Statements — One is labelled as Assertion (A) and other is labelled as
Reason (R) :
Jon - & e
Assertion (A): Use of in formal teaching makes communication li_\_rely and
interesg_ng. F = )

Reasons (R) : Academic decency demands the av&igance of slang in the classroom

-

environment.

In the light of the above statements, choose the correct option :

(1) >eoth (A) and (R) are true and (R) is the correct explanation of (A)

(2) )Goth (A) and (R) are true and (R) is not the correct explanation of (A)
(3) Sﬁ(is true, but (R) is false
MA) is false, but (R) is true Ans: 4
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/The concept ‘fraction of selection’ in classroom communication is determined by the

expectation of reward related to

1. Efforts needed J‘“‘d"'}"'—hﬁ

2. Reviews needed Boxg
3. Peer pressure needed =

4. Time-lag needed
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Q18. The concept ‘fraction of selection’ in classroom communication is determined by the

A ———

expectation of reward related to +

2. Reviews needed
- 1 uﬂ"fi...hd

3. Peer pressure needed ol {+
4. Time-lag needed C"d'?w\ﬁ %

o - - . . - I ——— 3 svescriee N
[Enroll for Free Demo Class | Visit combinecs.com for all new courses launched | Call now +91-7666980624 _ -




oin telegram For FREE Iest Practice/Noftes:

Eﬁ?.,'?.bi"ecs
5 s,
% o The formula of 'fraction of selection’ has developed by Wilbur §chramm) the
) cepond godfather of communication studies and research, in 1954

pct oty = Wﬁﬂ the first stage of @evelopment of ‘Uses and Gratification Theory, a number of

communication theories developed. ‘Fraction of Selection " is one of them.
o This formula helps to determine which form of mass media an individual would

select
The formula helped to decide the amount of gratification an individual would expect

to gain from the medium over how much effort they had to make to achieve
gratification./ =

The method is, Frequency of Activity = The expectation of reward / Effort required
The main question is "How do readers decide what to read?"

In the case of classroom communication, an individual has to select which offers
he/she has needed.
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Q19.  Which of the following are useful in p_os_it_i_xggmp_o_nents ozclassroom communication?
= -

(A)  Restrictive actions ,
(B) Empathy

(C)  Punctuality

(D)  Follow-up

(E)  Scattered reflections s

Choose the most appropriate answer from the options given below :

(1) (A, (®),(C) only (2) (B).(C), (D) only
3) (C). (D). (E) only (4) (A), (D), (E) only
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Q1g. Which of the following are useful 1 .@. mponents of classroom communication?

(A)  Restrictive actions X \A,_%ﬁ’un.
v—B) Empathy
AC) Punctuality

B Follow-up

(E) Scattegd reflections

Lovvect
? J\(DM

X
Choose the most appropriate answer from the options given below :

(I)  (A).(B), (C) only \.12’/(3). (C). (D) only

(3) (C). (D). (E) only (4) (A). (D), (E) only
Ans: 2

— . . - ) susscrise p
nroll for Free Demo Class | Visit combinecs.com for all new courses launched | Call now +91-7666980624 _ o




oin telegram For FREE Iest Practice/Nofes:

(A)
(B)
(&)
(D)

Newspaper

Radio and television
Social Media
Multi-media

Combinecs
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List IT
(Example for description)
(I) Networking
(I) Audio. Video and graphics
(ITT) Broadsheet
(IV) Broadcasting

Choose the correct answer from the options given below :

(1)
(2)
3
4)

(A)-(IID. (B)-(IV), (C)-(I), (D)-(ID)
(A)-(IV), (B)-(I). (C)-(ID, (D)-(I1ID)
(A)-(D). (B)-(I), (C)-(I1D), (D)-(IV)
(A)-(II). (B)-(II). (C)-(IV). (D)-(D)

o - - . . - I ——— 3 svescriee § S
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Match List I with Last II :
List I
(Medium)
Newspaper
Radio and television
SocialEedia
Multi-_r_pedia

Combinecs
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List II
(Example for description)
(I) Networking
(I) Audio. Video and graphics
(ITI) Broadsheet
(IV) Broadcasting

Choose the correct answer from the options given below :

v wo@H o

(A)-(IV), (B)-(I). (C)-(ID, (D)-(IID)
(A)-(I), (B)-(II), (C)-(III), (D)-(IV)
(A)-(ID). (B)-(ID. (O)-(IV). (D)-(I)

Ans:1
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(1) High level participation (2) Semantic precision
(3) Effective impression (4) Delayef_ig feedback
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Information overload 1n a classroom evnironment by a teacher will lead to

(1) High level participation (2) Semantic precision
(3) Effective impression L/(.4~)/ Delaved feedback

— . . - ) susscrise p
nroll for Free Demo Class | Visit combinecs.com for all new courses launched | Call now +91-7666980624 _ o




oin telegram For FREE Iest Practice/Noftes:

T \ ’ ? Classroom communicationjs based on seven key elements: l_i]ﬁ?.,,'!.‘.b'"ecs

“Teacher: In a classroom, teachers act as transmitters of information. Instruction
\Q_a.LMJV" must be presented in a manner that can be easily grasped by the learner.

A Encoding: It refers to preparing the subject of communication (idea, fact,
information, etc.) in a suitable language, devoid of any semantic barrier, that can be
easily understood by the students.

A Content: The concept that the teacher intends to teach must be transmitted by
M appropriate means. It may be in verbal or written form depending on the purpose.
W \)Medium In a traditional classroom teaching, the medium of communication usually
L 6 can be face-to-face verbal interaction. In the case of online classes, the medium
TL we could be m'ghmnous (live classrooms) or asynchronous (emails).

V, ing: In a classrooniTeaching, students act as receivers of information. The
student’s response depends upon his/her grasping ability or understanding of the
content.

- For a communication to be effective, it must be student-centred, for it is the

student and his ability to comprehend the content which contributes to a positive
response from the student to the teacher.

W Feedback

« The actual response of the students to the lesson communicated to him/her
is known as 'feedback’.

e As the teacher delivers the lesson, he/she constantly observe whether his
students understand what is being conveyed to them. Students may ask
questions for clarification, nod their heads in agreement or express confusion
in their faces or eyes.

If the communication is overloaded with information, it may affect the entire
communication process negatively as an excessive amount of information
conveyed might make it difficult for the students to grasp the content
completely which might, in turn, result in delayed feedback from the students.
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An important element in classroom communication is

(1) Physical infrastructure (2) Fields of experience
(3) Conditioned feedback (4) Linearity of Message
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An important element in classroom communication is

(1) Physical infrastructure (2) Fields of experience
(3) Conditioned feedback (4) Linearity of Message
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Q24.

2~ = A verbal communication technique used in teaching 1s

y N

(1) Slow expression of words

(2) Varying the speed of voice and tone
(3) » Presentation without pause

(4) Resorting to semantic jugglery
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Ammunication technique used in teaching is

(1) Slov_gggpression of words

1_/('2)/ Varying the speed _o___f__ volce and tone
(3)  Presentation without pause
(4) Resorting to semantic jugglery
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st Which of the followin
teaching?

(a)
(b)

(c)
La
(e)
(®)

—_—

Top-down v
[come
Associational
Dissociational
Symbolic
Abstract

Choose the most approprate option from the following :

(1)
(3)

(a), (b) and (f) (2) (c).(e)and (f)
(b), (c) and (e) (4) (a), (c)and (d)
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Which of the following'modes of oommunicatioﬁ):an be employed in a classroom for effective
teaching? =
(@)~ Top-down CS 2l
(b)  Icome

() (Associational ) -

d)  Dissociational o —
(e)  Symbolic oli "‘M“éhg“

‘

Abstract -Sewnumavised

Choose the most appropriate option from the following :

A (@), (&) angh ® @@©and
@ X )nd (@ 9( (@), (c) and (d)
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n excellent example of a place of communication in group situations
where teachers spend hours communicating with students to share information and
knowledge.

4" Sender
\/ receiver

‘v;pcodlng
decoding
L&/channel of feedback

> fields of experience, etc. (without these conducting a communication becomes
difficult or not possible)

_Fleld of experience

e This includes cultural habits, attitudes, beliefs, values, experiences, etc. one
possesses and uses them (consciously and Sub-&onsciously) while having
interaction/communication.

e |t can affect the mode, tone, and quality of the communication.

e The speaker and listener communicate better if they have common fields of
experience which overlap.

Conclusion: Hence, we can conclude that field of experience is an important element of
classroom communication.
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14) Match List | with List Il

List | List Il

Types of communication Function served

(A) Ma___s_s__gommunication (1) CorricLor discussion

(B) Intrapersonal communicati (I1) Classroom Teaching

(C) Group communication Il) For communicates with oneself

(D) Intergrsonal communication (IV) For mechanical message transmission
Choose the correct answer from the options given below :

(1) (A)-0V) SB)-BBAC)-(), (©)-(D_ P4 (A)-(), (B)-(1), (©)-(1), (D)-(IV)
(3) W)-00((B)-(1),)(©)-(V), W o4 (A)-(I), (B)-(1), (€)-(1), (D)-(IV)
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14) Match List | with List |l
List | List Il

Types of communication Function served
(A) Mass communication (1) Corridor discussion

(B) Intrapersonal communicatio ) Classroom Teaching
(C) Group communication (1) For communicates with oneself

(D) Interpersonal communication (IV) For mechanical message transmission
Choose the correct answer from the options given below :

M(W). B) (C)- ("). (}( (A)-(1), (B)-(11), (C)-(1), (D)-(IV)

(3) (A)-("). (C)- (|V). }k(A) (1), (8)-(1n), (C)-(1), (D)-(IV)

Ans: 1
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@ ))27) Given below are two statements, one islabelled as
. —Assertion A and the other is labelled as Reason R
o 20¥~ . . . .
= = ﬂk‘ - Assertion A: Teachers should strive to avoid discussing
(o2 complex issues.

» Reason R: Classroom communication should facilitate a

movement from exploring @ Issues to complex issues.
=g

» In light of the above statements, choose the correct answer

from the options given below:
1. Both Aand R aretrue and Ris the correct explanation of A

- Both Aand R are true but Ris NOT the correct explanation of
A

Ais true but R is false
Ais false but R is true

. - - . g - I —— 3 svescriee § S
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Q27) Given below are two statements, one is labelled as
Assertion A and the other is labelled as Reason R

» Assertion A: Teachers should strive to avoid discussing complex

Issues. W — —

» Reason R: Classroom communication should facilitate a

e

movement from exploring simple issues to complex issues. "Tvue

» In light of the above statements, choose the correct answer
from the options given below:
1. Both Aand R are true and R is the correct explanation of A
- Both Aand R are true but Ris NOT the correct explanation of A

5. Alstruebut Ris false

L//A is false but R is true

Ans: 4
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Enroll for Free Demo Class | Visit combinecs.com for all new courses launched | Call now +91-766698062¢ _ -




oin telegram For FREE Iest Practice/Noftes:

= |Combinecs
fo— he Bt S1ep

Q28) Why do we communicate?
9

R v b ie=" (1 For social interaction.
) Forhappiness sake.)<
((©Formessages to tg__e__understood. ~T
(D) Forsharing of experience.
(£) For protection gtraditionsx

Choose the correct answer from the options given
below :

(1) (A), (©), (E)only  (2)(B), (C), (D) only
(3) (A), (C), (D) only (M), (B), (E) only
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Q28) Why do we communicate?
.~ For social interaction.

8) /For happiness sake.
7 For messages to be understood.
27 For sharing of experience.

(E) yFor protection of traditions.

Choose the correct answer from the options given below :

(1) (A), (O), (BE)only  (2)(B), (Q), (D) only
_BHA), (), (D)only  (4) (A), (B), (E) only

Ans: 3
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_Q29) Given below are two statements : One is labelled as
Assertion A and the other is labelled as Reason R.

Assertion (A) : A man pulls a loaded truck by his hair which
becomes(news)

Reasons (R) : Unusual things make news called oddity and
generate public interest.

In the light of the above statements,

Choose the most appropriate answer from the options given
below :

Both (A) and (R) are correct and (R) is the correct
explanation of (A).

Both (A) and (R) are correct but (R)is NOT the correct
explanation of (A).

(A) is correct but (R) is not correct.
(A) is not correct but (R) is correct.

. - - . g - I —— 3 svescriee § S
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Q29) Given below are two statements : One is labelled as
Assertion A and the other is labelled as Reason R.

Assertion (A) : A man pulls a loaded truck by his hair which
becomes news.

C) Reasons (R) : Unusual things makealled oddity and

generate public interest.

—

In the light of the above statements,

Choose the most appropriate answer from the options given
below :

\y%th (A) and (R) are correct and (R) is the correct explanation
of (A).

() Both (A) and (R) are correct but (R)is NOT the correct
explanation of (A).

33 (A)is correct but (R) is not correct. Ans:1
(z) (A)is not correct but (R) is correct.
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Statement I : plays a key part 1n the shaping of communication process.

Statement II : Communication 1s concerned with the p‘x;oduction. distribution and formation

of public knowledge i

In light of the above statements, choose the correct answer from the options given below

Given below are two statements :

1

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement Il is false
4. Statement | is incorrect but Statement Il is true

) susscrise p
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Given below are two statements:  Q3o. —_—

Statement I : la_vs a key part in the shaping of communication process.

Statement II : Communication 1s concerned with the production, distribution and formation
of public knowledge 1n society.

In light of the above statements, choose the correct answer from the options given below

\/@\ Statement | and Statement |l are true
2. Both Statement | and Statement |l are false
3. Statement | is correct but Statement |l is false
4. Statement | is incorrect but Statement Il is true
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In the linear model of communication. the expecs

(1) Psychological disruption (2) Removal of physical noise
(3) High level of obstruction (4) Semantic accuracy

Jus® vdwis fadondt

M‘c
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In the line_q_;_', model of communication. the expected result 1s

(1) x Psychologica}g disruption (2) Removal of physical noise
(3) x High level of ob§=t_mction \_(/4)/Semantic accuracy
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In which of the following Communicaliiere is optimum scope for

encoding and decoding messages ?

ad
International Mﬁdel based on learner participation

. Distance Learning Model based on use of Information and Communication
technology support

Discussion-cum-Lecture session model conducted by the teacher

Transactional model based on collaborative projects

— . . - ) susscrise p
nroll for Free Demo Class | Visit combinecs.com for all new courses launched | Call now +91-7666980624 _ o




oin telegram For FREE Iest Practice/Noftes:

Q32.
In which of the following Communication Model, there ipe for

encoding and decoding messages ?
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1. International Model based on learner participation

2. Distance Learning Model based on use of Information and Communication
technology support

3. Discussion-cum-Lecture session model conducted by the teacher

\,{ransactional model based on collaborative projects Ans: 4

\AA
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Q33) Which of the following i le of physical barriert ication?
}3) ich of the following is an example of physical barrier to communication
gockal
(1) Cultural dispérity (2) Inattention

(3) Verbalism W (4) Il health

e - - = nsuascmas p
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Q33) Which of the following is an example of physical barrier to communication?
Bt

X A
(1) Cultural disparity \,(z)’l{ttention

(3) Verbalism x (4) lll health
X
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034) When in a classroom communication, a teacher shows ability of creativity,
e ——
—orrelation and analysis, it belongs to WhICh category of skills?

A1) Thinking skills (2) Expression skills
A3) Media utilization skills J£) Human skills
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Q34) When in a classroom communication, a teacher shows ability of creativity,
correlation and analysis, it belongs to which category of skills? ;

—_— —_—

hinking skills (2) Expre><on skills

(3)%a utilization skills (4) Hu>%n

kills
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When the attitude of the communication toward§ self)is positive but towards others 1t 1s
negative, the communicator 1s said to be =

(1) Self confident (2) Lacking in self confidence and
= authenticity =~

(3) Self-conceited | Commumcatmg without conﬁdenoe and
= without optimism
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When the attitude of the communication towards self 1s positive but towards others 1t 1s
negative, the communicator i1s said to be

(1) Self confident x (2) Lacking in self confidence and

authenticity
\_,(»3’)/ Se (4) Communicating without confidence and

without optimism o
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/ . . . . . . . . .
If the action desired 1n thls satisfactonly performed or the information is

faithfully received. it 1s said that,

(1) Communication loop has been closed ()( Communication has just begun

_

(3) Communication 1s successful Communication process 1s smooth

—
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Q36.
If th d_e_*g__xred In the message 1s satlsMﬂ-perfomled or the information 1s

faithfully received. it is said that,

\_/(/l( Communicationas been closed | X Communication has just begn
(3) Communicatit\)y's successful X Communication process i

Ompborgn’ (iL—'}f'
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(Imm_egdiaqof cues/in communication is dependent upon orlg'g own

1. Economic preferences

e —

2. Cultural background

———

3. Physical fithess

SpE——

4. Social expectations
-t
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Immediacy of cues in communication is dependent uporn/ one'sjown

l)Ecﬂﬁfmh:: preferences

2. Cultural background )(
3. Physical fitness X

4. Social expectations >(
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v

Television transmission is an example of which of the following?

1. Simplex Communication S

2. Half-duplex Communication Ry (Mud—a.h'.u\

3. Full-duplex Communication <>

4. None of the above
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Television transmission is an example of which of the following?

C T ———

U/Sﬁplex Communication [‘,._,__a“o Uk

2. Half-duplex Communication \/ T

-~

0 6
3. Full-duplex Communication ]IU-L W-LVUL

4. None of the above
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1
‘gj Simplex communication is a communication channel that sends

information in one direction only.

Only one of the two devices on a link can transmit, the other can only
receive.

It can use the entire capacity of the channel to send data in one
direction.

Examples of simplex include radio broadcasting, television

broayﬁﬁng, computer to printer communicati nd keyboard to
computer connections. \/a.u_a

Half-duplex Communication
— The direction can be reversed, i.e., the station can transmit and
receive the data as well.
o Messages flow in both directions, but not at the same time.
o The entire bandwidth of the communication channel is utilized in one
direction '

Combinecs

-— e

o The communication(s bi-directional, )e., the data flow in both
directions.
o Both the stations can send and receive the message simultaneously.

o |tisthe fastes ommunication between devices.
o Example(Telephone networ
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Q) Given below are two statements : -

Statement | : Appropriate word choice is an essential of
effective oral communication.

Statement Il : Facial expression and postures fall under
visual communication.

In the light of the above statements, Choose the correct
answer from the options given below :

1)  Both Statement | and Statement |l are true.
>) Both Statement | and Statement |l are false.
3)  Statement | is true but Statement Il is false.

)

(
(
(
(

;) Statement | is false but Statement Il is true.
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Q) Given below are two statements : —

Statement | : Appropriate word choice is an essential of
effective oral communication.

Statement Il : Facial expression and postures fall under
visual communication.

In the light of the above statements, Choose the
correct answer from the options given below :

1)  Both Statement | and Statement |l are true.
>)  Both Statement | and Statement |l are false.
3)  Statement | is true but Statement Il is false.

)

(
(
(
(

;) Statement | is false but Statement Il is true.

Ans: 3
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The Butra Siep

» In communication, connotative words have
1. Literal meaning

>, Cultural meaning
3. Common meaning
Clear meaning
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>, Cultural meaning
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Clear meaning
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» In communication, a major barrier to reception of a message is
1. Attitude of listeners

> Knowledge of listeners
3. Education of listeners
4. Income of listeners
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1. Attitude of listeners

> Knowledge of listeners
3. Education of listeners
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» A notice about the auction of a car in a newspaper is an example of
1. Group Communication

- Downward Communication
3. Interpersonal Communication
Mass Communication
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» A notice about the auction of a car in a newspaper is an example of
1. Group Communication

- Downward Communication
3. Interpersonal Communication
Mass Communication
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» The emergence of consumers who can control and even create media of their own

and of producers who can easily track consumer responses, is made possible by
1. Television

>, Radio
3. Internet

Telephone
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